Volume of Right Prisms

Teacher modeling of the formula for volume of a rectangular prism:

	This is a cubic centimeter:
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	Cubic centimeters can be arranged in rows.  This is a row of 10 cubic centimeters:
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If 12 rows of 10 cubic centimeters are placed together, how many cubic centimeters are there?
	If there are 3 layers of 12 rows of 10 cubic centimeters, how many cubic centimeters are there now?
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Explain to the students that they have just found the volume for the following rectangular prism (problem #1 on their worksheet):
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The 10 rows of 12 cubic centimeters (length x width) is called the area of the BASE and is represented by a capital B.  (Teacher can shade the base in the diagram.)  

The number of layers is called the HEIGHT of the prism and is represented by a lower case h.  

The formula for volume is 
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V

=

Bh

.

I DO:  Teacher models how to complete the work for each step in finding the volume for example 1 on the notes. 

WE DO:  Teacher guides the students in completing example 2 using random calling of students (cards or popsicle sticks).  Emphasize that these are cubic meters.

YOU DO: Teacher guides the students in completing example 3 using THINK-PAIR-SHARE.  

YOU DO GUIDED PRACTICE:  Students complete the next four problems using an APPOINTMENT BOOK.

Volume of prisms



Name ________________________________________________________Date__________________

Notes:
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Example 1 

Shade in the base of the prism.
	1st layer = Area of Base:

_______ rows of _______ cubic centimeters = ___________


	# of layers = h
	Volume:   V = Bh

	Example 2
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Shade in the base of the prism.


	1st layer = Area of Base:

_______ rows of _______ cubic centimeters = ___________


	# of layers = h
	Volume:   V = Bh

	Example 3
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Shade in the base of the prism.


	1st layer = Area of Base:

_______ rows of _______ cubic centimeters = ___________


	# of layers = h
	Volume:   V = Bh


Appointment Book:

	Appointment #1:
	Appointment #2:
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Volume:  

Area of Base:

Height: 
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                              Volume:

Area of Base:

Height:

	Appointment #3:
	Appointment #4:
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                Volume: 

Area of Base:

Height:
	A rectangular prism with length of 5 inches, width of 4 inches, and height of 6 inches.

Area of Base:

Height:

Volume:


Teacher modeling of applying the formula for volume of a triangular prism:

Identifying bases of a prism:  Teacher explains that the bases of a prism must be congruent (same size and shape) and parallel (never intersect). The bases of a triangular prism are always the triangles (even when the prism is inverted on its side).  The height is therefore not always vertical in the diagram.  The height is now referred to as the distance between the bases.  It helps to have a visual aid for this explanation.

Teacher models the difference between finding the area of the rectangular base and finding the area of a triangular base.  Instead of using length and width to find the area of the rectangular base, now the formula for area of a triangle is the area of the base.

Emphasize that the same volume formula is still being used.  

I DO:  Teacher models how to complete the work for each step in finding the volume for example 4 on the notes. 

WE DO:  Teacher guides the students in completing example 5 using random calling of students (cards or popsicle sticks).  

YOU DO: Teacher guides the students in completing example 6 using THINK-PAIR-SHARE.  

YOU DO GUIDED PRACTICE:  Students complete the next four problems using an APPOINTMENT BOOK (students keep same 4 appts from first appt book activity).

Notes:

	Example 4
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	1st layer = Area of Base:
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Area of the triangle
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	# of layers is the distance between triangles = height
	Volume:   V = Bh

	Example 5
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	1st layer = Area of Base:


Area of the triangle
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	# of layers = h
	Volume:   V = Bh

	Example 6
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	1st layer = Area of Base:


Area of the triangle
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	# of layers = h
	Volume:   V = Bh


	Appointment #1:
	Appointment #2:

	
                                                   Volume:

Area of base:

Height of Prism:
	Find the volume of a triangular right prism whose base is a right triangle with base of 3 cm and height of 4 cm; height of prism is 12 cm.
Area of Base:

Height:

Volume:                             


	Appointment #3:
	Appointment #4:

	
                Volume: 

Area of base:

Height of Prism:


	What is the volume of a triangular right prism whose base is a right triangle with base of 6 cm and height of 8 cm; height of prism is 5 cm?
Area of Base:

Height:

Volume:


http://www.shodor.org/interactivate/activities/SurfaceAreaAndVolume/
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